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Question 1

Question Type: MultipleChoice

In order to ensure smooth processing of tasks in the Dataworks data development kit, you must create an AccessKey. An AccessKey is
primarily used for access permission verification between various Alibaba Cloud products. The AccessKey has two parts, they are .
(Number of correct answers: 2) Score 2

Options:

A- Access Username
B- Access Key ID
C- Access Key Secret

D- Access Password

Answer:

B, C

Question 2




Question Type: MultipleChoice

Resource is a particular concept of MaxCompute. If you want to use user-defined

function UDF or MapReduce, resource is needed. For example: After you have prepared UDF, you must
upload the compiled jar package to MaxCompute as resource. Which of the following objects are
MaxCompute resources? (Number of correct answers: 4)

Score 2

Options:

A- Files

B- Tables: Tables in MaxCompute

C- Jar: Compiled Java jar package

D- Archive: Recognize the compression type according to the postfix in the resource name

E- ACL Policy

Answer:

A B CE



Question 3

Question Type: MultipleChoice

MaxCompute is a fast and fully-managed TB/PB-level data warehousing solution provided by Alibaba
Cloud. Which of the following product features are correct? (Number of correct answers: 3)

Score 2

Options:

A- Distributed architecture

B- High security and reliability

C- Multi-level management and authorization
D- Efficient transaction processing

E- Fast real-time response

Answer:

A B, E



Question 4

Question Type: MultipleChoice

MaxCompute can coordinate multiple users to operate one project through ACL authorization. The
objects that can be authorized by ACL include . (Number of correct answers: 3)

Score 2

Options:

A- Project
B- Table
C- Resource

D- Procedure

Answer:

A B, C

Question 5




Question Type: MultipleChoice

A distributed file system like GFS and Hadoop are design to have much larger block(or chunk) size
like 64MB or 128MB, which of the following descriptions are correct? (Number of correct answers: 4)

Score 2

Options:

A- It reduces clients' need to interact with the master because reads and writes on the same block( or
chunck) require only one initial request to the master for block location information

B- Since on a large block(or chunk), a client is more likely to perform many operations on a given block, it
can reduce network overhead by keeping a persistent TCP connection to the metadata server over an
extended period of time

C- It reduces the size of the metadata stored on the master

D- The servers storing those blocks may become hot spots if many clients are accessing the same small
files

E- If necessary to support even larger file systems, the cost of adding extra memory to the meta data
server is a big price

Answer:

ABCD



Question 6

Question Type: MultipleChoice

Which of the following Hadoop ecosystem componets can you choose to setup a streaming log
analysis system?(Number of correct answers: 3)

Score 2

Options:

A- Apache Flume
B- Apache Kafka
C- Apache Spark

D- Apache Lucene

Answer:

A CD



Question 7

Question Type: MultipleChoice

Table is a data storage unit in MaxCompute. It is a two-dimensional logical structure composed of

rows and columns. All data is stored in the tables. Operating objects of computing tasks are all tables. A
user can perform create table, drop table, and tunnel upload as well as update the qualified data in the
table.

Score 1

Options:

A-True

B- False

Answer:




Question 8

Question Type: MultipleChoice

MaxCompute SQL is suitable for processing less real-time massive data, and employs a syntax similar
to that of SQL. The efficiency of data query can be improved through creating proper indexes in the
table.

Score 1

Options:

A- True
B- False

Answer:

B

Question 9

Question Type: MultipleChoice




Synchronous development in DataWorks provides both wizard and script modes.

Score 1

Options:

A- True

B- False

Answer:

A

Question 10

Question Type: MultipleChoice

A start-up company wants to use Alibaba Cloud MaxCompute to provide product recommendation
services for its users. However, the company does not have much users at the initial stage, while the

charge for MaxCompute is higher than that of ApsaraDB RDS, so the company should be recommended



to use MaxCompute service until the number of its users increases to a certain size.

Score 1

Options:

A- True

B- False

Answer:

Question 11

Question Type: MultipleChoice

There are various methods for accessing to MaxCompute, for example, through management console, client command line, and Java
API. Command line tool odpscmd can be used to create, operate,

or delete a table in a project.

Score 1



Options:

A- True

B- False

Answer:

A

Question 12

Question Type: MultipleChoice

MaxCompute takes Project as a charged unit. The bill is charged according to three aspects: the
usage of storage, computing resource, and data download respectively. You pay for compute and
storage resources by the day with no long-term commitments.

Score 1



Options:

A-True

B- False

Answer:
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